TCP3d coprocessor issue question
TCP3d instance A/B runs per 2msec under one C6670 DSP chip core 2/3 ,

One of them (A/B) made completion interrupt normally, the other did not make and the associated core wait for the interrupt forever.
The normal working core can be different when testing. After starting, it is kept as Figure 1, Figure 2. 
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Figure 1 Space-time diagram for TCP3d usage (some cases)

[image: image2]
Figure 2 Space-time diagram for TCP3d usage (the other cases)
The interrupt is configured by referencing TCP3d test project in PDK v1.1.2.5 .
	
	Instance A @ core 2
	Instance B @ core 3

	System interrupt
	7
	23

	Host interrupt
	90
	100

	Event number
	28
	28
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